1) You are being told that tax cuts for corporations are nothing but corporate welfare and they have little impact on economic growth. What would be your arguments to prove the opposite? 
2) Put together two AD and AS curves graphs to show and explain how

a) a “supply sider” would stimulate growth

b) a "Keynesian" would stimulate growth. 

What is the likely impact on prices in each situation? 
3) Make an argument that supports reducing taxes on capital gains and dividends using economic growth theory.

